IBRIUM LEVEL OF NI AND RATE OF
nalysis
OR

in Goods and Moncy Markets
‘Market in a Two-Sector Economy or 1S curve (UAJK: 2010)

ye represents general equilibrium in goods market. Hence, ™ 1S
ws those pairs of rate of interest and level of income where
sover, here economy is in equilibrium where Y = C + |
Epresei that induced investment which is influenced by rate
im,-mncnt curve and negative sign shows the inverse
I.'l nd investment. Thus, putting the values

i Co +cY + lo - Vi
i ¥(1—c) = Co+lo- Vi
i ‘NI determination equation according to Hicks

&=
= »
o
o
e

t mmn oritis IS schedule

==~ 840 33330



AL EQUILIBRIUM IN MONEY MARKET OR LM CURVE ~ (UAJK: 2010)

Hicks, LM curve shows general equilibrium in money market. Therefore,
combinations of rate of interest and level of NI where Md = Ms, or money

ium”. According to Hicks, Md has two parts : (1) The transactive demand for

 depends upon level of income (Y). Its general and standard forms are as :

llll Mtd = kY where k = proportion of cash balance.

; h' munr.}* (Msd) which depends upon the rate of interest. There exists
setween Msd and rate of interest. Its general and standard forms are as :

= I‘{{} and Msd = mo - mi

' Msd curve and negative mgn shows inverse relationship between interest

m+ Msd

liﬁmdmmun-nm. Itisas: Ms = Mo

Mtd + Msd (Summing two demands)
: Md =



lm—

1 SIMULTANEOUS EQUILIBRIUM IN GOODS AND MONEY MARKETS

(UOPR: 2009)

We have —— Iﬂ:id that IS represents general equilibrium in goods market while LM
shows general equilibrium in money market. Therefore, according to Hicks the simultaneous
equilibrium in goods and money markets takes place where IS intersects LM curve. Now we

explain them with examples. The same is available in general form in chapter 5 of the book
“Macroeconomics™ by Prof. A. Hamid Shahid. .

Numerical Example. lfl‘hF following information are given regarding goods and money markets,
find equilibrium rate of interest and level of NI where goods and money markets are in

equilibrium. X =C+] C=102+07Y
Y= 102 +0.7Y + 150 - 100i [ = 150 — 100i
Y-07Y = 252-100i Mid = 025Y
1-0.7) = 252-100i Msd = 124 - 200i
YID3) = 257 — 100i = ) o "m'r.l__]lm' Ms = Mo = 300

Subtracting (2) from (1)
Y = B40-333.33i
Y =704 £ 800i

0= 136 -1133.33i

1133330 = 136
o136 B
"33 = 012 = 12%
Putting the value of i in (1)) and (2)
Y = 840-333.33(0.12) = 800
Y = 704 +800(0.12) = 800

= 0.25Y = 0.25(800) = 200




xample 2. With the following equations, find simultancous equilibrium in goods and
_ money markets:
‘Goods Market Equilibrium

; "f C =10+0.8Yd

=10+ 0.8 Yd + 100 - 200i + 15 ¥d =Y T, T=30

10+ 08[Y-T]+ 100 -200i + 15 G=Go=15

10 +0.8[Y—-30]+100-200i + 15 [ =100 - 200i

10 +0.8Y 24 + 100 - 200i + 15 | Md=0.25Y - 40i, Mo = 100

= 101 - 200
)= 101 - 200i

Q:IFC =48 + 0.8Y

_ : =98 - 75i
101 - 200i | M =250
_'- 'i L = L] -+ L"s =

OR Y =505-1000i . (D | 03y +52- 1505

ilibrium Subtracting (2) from (1) (i) find IS and LM equations

. ; (i) find equilibrium level of
¥ 305 -~ 1000i income and rate of interest.
£Y =+400+ 160 (UAJK: 2013)
gl - - i G ilibrium
T g_= 1051160 Yﬂ:tés.+n:arket equilibriu
| %?$ﬁ3i=9mi Y =48 + 0.8Y + 98- 75i
4 Money market equilibrium
.iJﬂ.WUSITZ L=M = — L =M
R 0.3Y + 52 - 150i = 250
b For further solution. sce

Example |
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v = 505 - 90.5172 = 414.48275
y = 400 + 160i = 400 + 160(0.0905172) = 414.48275
Md = 0.25Y — 40i = 0.25(441.48275) - 40(0.0905172)=100
C=10+08Y =10+08[Y -T]
=10+ 0.8 [414.48275 - 30] = 317.58624
Yd=Y ~-T=414.4828 — 30 = 384.4828
S=Yd-C=384.4828-317.58624 = 6689656
=100 - 200i = 100 - 200(0.0905172)
[=100-18.10344 = 81 .89
Thl.llal.t 9% rate of interest the equilibrium level of NI is 414 48, where
‘Md=Ms=100 and |+G=S+T = 96.90

e - F

e Y Md Ms S+ T [+ G .
9% 41448 100 100 66.89+30=96.90 81.89+15=9690 |

ple 3. With the following equations, find equilibrium level of interest
2vel of NI.
P05 Yd, Yd=Y-T,T=20+02Y,G=Go=112,
= 600i, Ms = 300, Mtd = 0.5Y,Msd = 50 - 600i
, s market equilibrium. Putting the values
.5¥d + 200 — 600i + 112
S5[Y-T] +200-600i + 112
LY —(20+0.2Y) ] +200 - 600i + 112
A ..-;(zu+um]+2m 600i + 112
e 20-0.2Y] +200-600i +112
' —0.1Y +200-600i + 112
130 + 200 - 600i + 112 - 10

Ehe aquatmn of IS
eting (2) from( )
= 720~ 1000
Y =4 500+ 1200 |
220 - 2200 |

B =0.0= 10%

Bt L. -



Y=500+1200i .. (2) Theequation of LM
Putting the value of i in IS and LM equations 4

N = 720 - 1000(0.1) = 720100 = 620
Y = 500+ 1200{0.1)= 500+ 120 = 620
Putting the value of Y and i in different variables
T - =20+02Y=20+0.2(620)= =20+ 124 = 144
B - = Y -T = 620~ 144 = 476
€. =130+0.5Yd =130 +0.5(476) = 130 + 238 =368

- Yd-C= 476-368= 108
200 - 600i = 200 — 600(0.1) = 200 — 60 = 140
0 +0.5Y — 600 = 50 + 0.5(620) — 600(0.1) = 50 + 310 — 60 = 300
144 252 [+[}_ 140+ 112 = 252

‘::Md' Ms S+T I+G
620 300 300 252 252

N s




